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Find the value of sin35° 50'

1. From Table of Natural Sines
x°| 0 6' 12! 18' 24" 30' 36' 42" 48" 54' |1'(2'|3'|4'|5'
35|0.5736|0.5750(0.5764|0.5779/0.5793|0.5807(0.5821

0.5835|0.5850/0.5864(2 |5|7 9|12
(iii) 0.5851 (iv) 0.5858 (v) 0.5852

(i) 0.5855 (ii) 0.5859

Find the value of cos30° 20'

5. From Table of Natural Cosines
x°| 0 6' 12! 18 24" 30' 36' 42! 48" 54' [1'(2'(3'|4'|5'
30|0.8660|0.8652(0.8643|0.8634/0.8625|0.8616(0.8607

0.8599|0.8590/0.8581|1 (3|4 |67
(iii) 0.8627 (iv) 0.8628 (v) 0.8635

(i) 0.8634 (ii) 0.8631

Find the value of tan61° 42'

3. From Table of Natural Tangents

x°| 0 6' 12' 18' 24" 30' 36' 42! 48' 54' |1'|2'|3'|4'|5'
61/1.8040|1.8115|1.8190/1.8265|1.8341|1.8418|1.8495|1.8572|1.8650|1.8728|13/26|38|51|64
(i) 1.8569 (ii) 1.8576 (iii) 1.8575 (iv) 1.8572 (v) 1.8568

Find angle 8 such that sin® =0.8791

4. From Table of Natural Sines
x° 0' 6' 12' 18' 24" 30’ 36' 42' 48' 54' |1'(2'(3'|4'|5'
61/0.8746|0.8755|0.8763|0.8771/0.8780/0.8788(0.8796

0.8805|0.8813|0.8821|1 (3|4 |5|7
(v) 61° 42

(i) 61°22" (ii) 61°27' (iii) 61° 32" (iv) 61° 37"

Find angle 6 such that cos6 =0.9102

5. From Table of Natural Cosines
x°| 0 6' 12' 18' 24" 30' 36' 42'
24/0.9135(0.9128(0.9121|/0.9114/0.9107/0.9100|0.9092

(i) 24° 18" (ii) 24° 28" (iii) 24° 38" (iv) 24° 23

48" 54' |1'|2'|3'|4'|5'
0.9085|0.9078|0.9070({1|2|4|5|6

(v) 24° 33
Find angle 6 such that tan® =0.2959
6. From Table of Natural Tangents
x°| 0 6' 12' 18' 24" 30' 36'

42! 48" 54' |1'|2'|3'|4'|5'
16/0.2867|0.2886/0.2905|0.2924|0.2943|0.2962|0.2981|0.3000(0.3019/0.3038|3 |6 |9 |13|16
(i) 16° 34" (ii) 16°29"' (iii) 16° 24" (iv) 16° 39'

(v) 16° 19
Find the value of sin49° 49'
7. From Table of Natural Sines
x°| 0 6' 12' 18' 24" 30' 36' 42' 48' 54' |1'(2'(3'|4'|5'
49/0.7547(0.7559|0.7570/0.7581|0.7593|0.7604|0.7615

0.7627|0.7638|0.7649|2 (4|6 |7 |9
(iii) 0.7636 (iv) 0.7644 (v) 0.764

(i) 0.7643 (ii) 0.7637

Find the value of cos51° 36'

8. From Table of Natural Cosines
x°| 0 6' 12' 18' 24" 30’ 36' 42' 48' 54' |1'(2'(3'|4'| 5"
51|0.6293|0.6280(0.6266|0.6252/0.6239(0.6225(0.6211

0.6198|0.6184/0.9170(2 |5|7|9|12
(iii) 0.6215 (iv) 0.6207 (v) 0.6214

(i) 0.6208 (ii) 0.6211



10.

11.

12.

Find the value of tan43° 16'

From Table of Natural Tangents
x°| 0 6' 12' 18' 24" 30' 36' 42! 48' 54' |1'|2'[3"'|4'|5'
43]0.9325/0.9358/0.9391|0.9424/0.9457|0.9490/0.9523|0.9556|0.9590|0.9623|6 |11|17|22|28
(i) 0.9416 (ii) 0.9409 (iii) 0.9417 (iv) 0.941 (v) 0.9413
Find angle 6 such that sin® =0.6585
From Table of Natural Sines

x°| 0 6' 12' 18' 24' 30' 36' 42! 48' 54' |1'[2'|3'|4'|5'
41|0.6561/0.6574|0.6587|0.6600/0.6613|0.6626|0.6639|0.6652|0.6665(0.6678|2 |47 |9 |11
(i) 41° 1" (ii) 41° 21" (iii) 41°16' (iv) 41°11' (v) 41°6'
Find angle 6 such that cos6 =0.3816

From Table of Natural Cosines
x°| 0 6' 12' 18' 24! 30' 36' 42! 48' 54' |1'[2'|3'|4'|5'
67(0.3907|0.3891/0.3875|0.3859|0.3843|0.3827/0.3811|0.3795|0.3778|0.3762|3 (5|8 (11|13
(i) 67°24' (ii) 67°39" (iii) 67° 34" (iv) 67°29'

Find angle © such that tan6 =0.4613

(v) 67° 44

From Table of Natural Tangents
x°| 0 6' 12' 18' 24' 30' 36' 42! 48' 54' |1'[2'|3'|4'|5'
24)0.4452|0.4473/0.4494|0.4515|0.4536/0.4557|0.4578|0.4599|0.4621|0.4642|4 |7 |11|14|18
(i) 24° 36" (i) 24° 41" (iii) 24° 51" (iv) 24° 56

(v) 24° 46'
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